

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

act. Lizt-Prod

Invoice Number: 134911

Invoice Date: Feb 14, 2013

Page:

Now Includes:



Customer ID	Field Ticket#	Payment	t Terms
Murfin	59289	Net 30	Days
Job Location	Camp Location ⊢	Service Date	Due Date
KS2-03	Great Bend	Feb 14, 2013	3/16/13

Quantity	Item	Description	Unit Price	Amount
The search of the state of the search of the		Honas Farms #1-1	<u> </u>	
150.00	MAT	Class A Common	17.90	2,685.00
100.00	MAT	Pozmix	9.35	935.00
9.00	MAT	Gel	23.40	210.60
63.00	MAT	Flo Seal	2.97	187.11
269.20	SER	Cubic Feet	2.48	667.61
168.46	SER	Ton Mileage	2.60	438.02
1.00	SER	Plug to Abandon	2,600.47	2,600.47
15.00	SER	Pump Truck Mileage	7.70	115.50
15.00	SER	Light Vehicle Mileage	4.40	66.00
1.00	CEMENTER	Charles Elkins		
1.00	EQUIP OPER	Joshua Isaac		
1.00	EQUIP OPER	Daniel Casper		
			,	
			•	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2,766.85

ONLY IF PAID ON OR BEFORE Mar 11, 2013

Subtotal	7,905.31
Sales Tax	498.03
Total Invoice Amount	8,403.34
Payment/Credit Applied	
TOTAL	8,403.34

ALLIED OIL & GAS SERVICES, LLC 059289 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:
Great Bend, KS

	GLIS PM	ON LOCATION	IOB START	JOB FINISH 12:304	u,
LEASE Forms WELL #1-1 Antontro: Cm We LOCATION Feet into	ST, 6 YUNOrt	h	COUNTY	STATE	
OLD OR (VEW) (Circle one)	location ((+0m)	Ellis		- -
OLD ON (NEW (Citcle offe)	·		2.03		loi
CONTRACTOR Murfin 2	OWNER M	lus fin	ð		l
TYPE OF JOB PTA	0.,,,,				
HOLESIZE 7 1/8" T.D. 39715+	CEMENT		1.1.		
CASING SIZE 8%" 23 DEPTH 22.5年	AMOUNTOR	DERED 150s)	1 60/40+4.	% Gel	
TUBING SIZE DEPTH	1,25 %x 1	Flo-Seel			
DRILL PIPE 4K" 16.60 DEPTH 38715+			_		
TOOL DEPTH					
PRES. MAX MINIMUM	COMMON	150	@ <u>17-90</u>	2.685	. 4.5
MEAS. LINE SHOE JOINT	POZMIX	100	@ <u>9.35</u>	935.5	<u>, Ç</u>
CEMENT LEFT IN CSG.	GEL	9	@ 23.40	210.66	<u> </u>
PERFS.	CHLORIDE _				
DISPLACEMENT WBHF FW	ASC	· · · · · · · · · · · · · · · · · · ·	_@		·-
EQUIPMENT	360000	\63_	_@ <u>2.97</u>	187.4	
•			_@		
PUMPTRUCK CEMENTER Charles EIKINS					
# 398 HELPER Josh Isaac 2	···		_@		
BULK TRUCK			_@		
#609/112 DRIVER Dun Cosper 2			_@		
BULK TRUCK			_@		
# DRIVER			_@		
a State Lix	HANDLING _		@ 2.18	467.	<u>''</u>
	MILEAGE	1.23 x 15		138/3	
REMARKS:			TOTAL	5.123	ر ا
St Play 1@387181:684, 125cmt, 284, 45WBM (50ss)		168.46			
Set Plus 2 @ 1540 St 18 FW, Sent, 15 FW (2054)		SERVI	CE		
Set Plus 2 @ 1540 (£ 1 6 Fev. 5 cm + , 15 Fev. (2051) Set Plus 3 @ 7777 1:6 Fev. 2 Sent, 3 Fev. (1005)		5.52111			
Settle, 40 1754: 6 FW, 10 cm, 1 FW (405%)	DEPTH OF IC	ìR			
SetPly 5@ 40ft! LiSent (10cx)	PUMP TRUCK		2600.	17	
Plug Rot Hole with 7. Sout (385x)	EXTRA FOOT		@ @		
	MILEAGE		_ @ _ @ 7.70	115.5	3
	MANIFOLD _				
		UM 15	_@ 4 .40	66.00	5
			_ <u> </u>		
CHARGE TO: Murfin			_ ~		
CHARGE TO: TRAT TIM			mam. r	2.781	97
STREET			TOTAL	2. 101	<u></u> -
2000					
CITYSTATEZIP		PLUG & FLOA	T EOUIPMEI	٧T	
			2		
		···	<u>@</u>		
	•				
To: Allied Oil & Gas Services, LLC.	-		_@		
You are hereby requested to rent cementing equipment		·			
and furnish cementer and helper(s) to assist owner or	-		_@		
contractor to do work as is listed. The above work was					
done to satisfaction and supervision of owner agent or			TOTAL	,	
contractor. I have read and understand the "GENERAL		49	8.03		
TERMS AND CONDITIONS" listed on the reverse side.	0.41 0.0 0.4 0.4	TE Anol 1	,		
A DAMAS CARD COLD LINES OF THE RESIDENCE OF THE STATE OF	SALES IAA (II Ally)	21		
ADMINOTHED COMMITTORIS HISTORISM SHOE.	TOTAL CUAN	7. 905	31		
1	TOTAL CHAI	RGES 7. 905	<u>31</u> , <u>85</u>		
PRINTED NAME Deriver Colored	TOTAL CHAI	RGES 7. 905 2.764	. <u>31</u> . <u>85</u> . IFPA	ID IN 30 DA	
1	TOTAL CHAI 7 DISCOUNT	If Any)	. <u>31</u> . <u>35</u> . IFPA / <u>95</u>	ID IN 30 DA	 NYS



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

** Murfin Drlg. Co., Inc.

250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 134747

Invoice Date: Feb 6, 2013

Page:

Now Includes:



Customer ID	Field Ticket#	Payment	Terms
Murfin	59259	Net 30	Days
Job Location	Camp Location	Service Date:	Due Date
KS2-01	Great Bend	Feb 6, 2013	3/8/13

ltem	Description	Unit Price	Amount
A CONTRACTOR OF THE PROPERTY O	Honas Farms #1-1		
MAT	Class A Common	17.90	3,132.50
MAT	Gel	23.40	70.20
MAT	Chloride	64.00	384.00
SER	Cubic Feet	2.48	468.07
SER	Ton Mileage	2.60	336.18
SER	Surface	1,512.25	1,512.25
SER	Pump Truck Mileage	7.70	115.50
SER	Light Vehicle Mileage	4.40	66.00
EQP	8.5/8 Wooden Plug	107.64	107.64
CEMENTER	Tim Dickson		
EQUIP OPER	Trint Hall		
EQUIP OPER	Joel Monahan		
	_		
	n 1(a)		
	(V/)		
	, i		
	MAT MAT SER SER SER SER SER SER EQP CEMENTER EQUIP OPER	Honas Farms #1-1 MAT Class A Common MAT Gel MAT Chloride SER Cubic Feet SER Ton Mileage SER Surface SER Pump Truck Mileage SER Light Vehicle Mileage EQP 8.5/8 Wooden Plug CEMENTER Tim Dickson EQUIP OPER Trint Hall	Honas Farms #1-1

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,167.31

ONLY IF PAID ON OR BEFORE Mar 3, 2013

Subtotal 6,192.34 Sales Tax 232.74 **Total Invoice Amount** 6,425.08 Payment/Credit Applied 6,425.08

- 2167.31

ALLIED OIL & GAS SERVICES, LLC 059259

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:

SOUTHLAKE, TEX	A5 /6092			Treex	Bend Ka
DATE 2-10-13 SEC. TW	P. RANGE	CALLED OUT	ON LOCATION	JOB START 8130 PM	JOB FINISH
LEASE FACUS WELL# 1-1	LOCATION ACTO	onino, lowe	- •	COUNTY	STATE
OLD OR NEW (Circle one)	51/411-2	- E cut with	-	<u> </u>	Kart
		VV Frod V	<u>~</u>	J	
CONTRACTOR My		OWNER S	بسور		
TYPE OF JOB Sunfale					
HOLE SIZE 12/2"	T.D.225°	_ CEMENT		_	
CASING SIZE & 5/8'	DEPTH 22.3 '	_ AMOUNT OR	DERED <u>175.</u> (Den A -3	<u> </u>
TUBING SIZE DRILL PIPE	DEPTH DEPTH	2%14			
TOOL	DEPTH		<u> </u>		
PRES. MAX	MINIMUM	_ COMMON	, , , 6	0.7 94	3.132.5
MEAS. LINE	SHOE JOINT	_ COMMON _ POZMIX	115		5.102
CEMENT LEFT IN CSG. 15	<u> </u>	_ FOZMIX	-3	_@ @ 23.48	70.20
PERFS.		CHLORIDE	<u> </u>		384.00
DISPLACEMENT 13 14 66	1.5	ASC_		_@ <u>\&\/:</u> _@	30112
EQUIPM			<u>.</u> .	-@	
EQUIM	IISIAT			- ~	
DIM (DEDUCT)	= 1	_			
	Tim Dichon	_			
# 398 HELPER ——	Aut Holl	_		6	
	0.11				
BULK TRUCK	ul Morohan			@	
# DRIVER				_@	
BRITER		- HANDLING_		@ <u>2.48</u>	468. QZ
		MILEAGE 🕉	.62 X / S x	2.60	334.18
Ran 223' of 8% cy. B Winid 175 It Claud A Rolesned Plen Devel		<u>. </u>	SERVI	CE	
1330.	exect more house		D 20-1		
Coment Dis	Texculate	DEPTH OF JO PUMP TRUCK		1512. =	<u> </u>
		EXTRA FOOT		<u>/3/2</u> @	-
			Hum 15		115.50
			Lum 15		
	Thale	Head Bea		_@	
					
CHARGE TO: Margan D	ulling	_		TOTAL	1.693
STREET					
CITYSTATE	ZIP	-	PLUG & FLOAT	r equipmen	IT
		1-85/4 15	od en Plug	@ <u>/۵7. </u>	107. 44
T. AW. 1011 8 C C					
To: Allied Oil & Gas Services,				_	
You are hereby requested to rer					
and furnish cementer and helpe					
contractor to do work as is listed done to satisfaction and supervi- contractor. I have read and und	ision of owner agent or			TOTAL	107. 64
TERMS AND CONDITIONS"			If Any)		
LANGE THE CONDITIONS	noted out the teactor state	··· TOTAL CITAL	cee / 197	, <u>34</u>	
PRINTED NAME VACIO	calles a &	DISCOUR	If Any)————————————————————————————————————	7.81	D 11100 D 15
PRINTED NAME X ATURO CO	~~~~ <u>~~~~</u>	DISCOUNT _		IFPAI - 02	D IN 30 DAYS
SIGNATURE X Ambia Co.	Loras		4.023		